woR oA ® O
T oAl Mmoo Bl B AL | # & %
738 ¥k 08 ) Fi
it
B O O+ T 2V 1
1 Hll T 2y 1
iiE il m’ 8
B % + I 2y 1
R #i m’ 52
£ R L Rt m’ 26
H I L RC-40 m’ 21
7B o N = 1
oo+ L m’ 31
HE K # & 4 L =« 1
{1l T T X 1
v 3Fi, 300A m 10
a7 Y —h&E /e 19
rv—FrrE | piiwl o | K I
& = T E2V 1
% w| fzwdzggém ST . -
£ ok L
£ S N /4 S 300 X 300B = 1
£ Kk # B 300 X 300C K 1
£ Kk # C 300X 300 X 1000 5 1
£ Kk #D 300 X 600 X 1000 o8 1
£ K Bt E 300 X 600 X 1200 = 2
£ Kk # F 300 X 300A K 1




B o= £ £ (2
i o oo I Wi | # & Wi
A+ T =\
gﬁ A 7%7 v £ =+ )
= ﬁ%ﬁf i{iﬁf ES 308
B Mﬁ?*%@%bgﬁ?m i 308
S W E L 1
TG B L T 1
%’% 4:% ;ﬁ Z i}% []: t=10cm) F 270
wow o oo o | 70 70ed m 6
O A BT =2V 1
A S TAT 7Lk m® 11
34 vt 7 T AT 7Lk m’ 11
T =V 1
1 B T = 1
+ 4 T = 1
i = 1
W b W T =X 1
W L E B ¢ =V




>

i
T

r

LT

f

R L
(it 1)

=
n
[
7l
o
EL&

V5 3wy U2

AHRELD
7.57

AtHEELY
51. 90

AHRELY
26. 00

AHEELD
21.28

HEREL

( HEH

59. 47

( B+ + HE ) /0.9

51.

51.

26.

26.

21.

21.

51.

59.

26.

26.

30.

.57

.57

90

90

00

00

28

28

.57

90

47

00

00

59




+ T G i1 & A A

N £ Al R £t R L o(wm A L)
WS 4 il El(im%)ﬁ LTI S B A 7| T B | WomE| B T & | Wrom | F % + &
(m?) (m?) (m®) (m®) (m®) (m?) (m?) (m?) (m®)

NO. 0 NO. 0 0. 00 0. 00 0.10 0. 00 0. 00
NO. 1 NO. 1 0.00 20. 00 0.04 0. 07 1. 40 0. 00 0. 00 0.06 0.03 0. 60
NO. 1+3. 60 NO. 1 + 3. 60 3. 60 0.04 0.04 0.14 0. 00 0.00 0. 06 0. 06 0.22
EGh 0. 00 0. 18 0.11 0. 80 0. 40 0. 35 0.21
NO. 2 NO. 2 + 0. 00 16. 40 0.18 0.18 2.95 0.80 0. 80 13.12 0. 35 0. 35 5.74
NO. 3 NO. 3 + 0.00 20. 00 0.02 0.10 2.00 0.85 0. 83 16. 60 0. 40 0. 38 7.60
NO. 3+19. 60 [NO. 3 + 19. 60 19. 60 0.02 0.02 0.39 0. 85 0.85 16. 66 0. 40 0. 40 7.84
EiGh 0. 00 0. 06 0.04 0. 60 0.73 0.40 0. 40
NO. 4 NO. 4 + 0. 00 0. 40 0.06 0. 06 0.02 0. 60 0. 60 0.24 0. 40 0. 40 0.16
NO. 4+9. 6 NO. 4 + 9. 60 9. 60 0.08 0.07 0.67 0.50 0.55 5.28 0. 40 0. 40 3. 84

el 89. 60 7.57 51.90 26. 00




* 2 i i ==
. R L ( RC40 )
WoR 4| W A R w | ¥ B[ Wrm R F % | £ R |Bm| ¢8| & &
(m?) (m?) (m°) (m?) (m®) (m’) (m®) (m®) (m’)

NO. 0 NO. 0. 00 0. 00 0. 00

NO. 1 NO. 1 0.00 | 20.00 0. 00 0. 00

NO. 1+3.60  |NO. 3. 60 3. 60 0. 00 0. 00

EER 0. 00 0.38 0. 19

NO. 2 NO. 0.00 | 16.40 0. 38 0. 38 6. 23

NO. 3 NO. 0.00 | 20.00 0. 38 0. 38 7. 60

NO. 3+19. 60 |NO. 19.60 | 19.60 0. 38 0. 38 7.45

R 0. 00 0. 00 0. 19

NO. 4 NO. 0. 00 0. 40 0. 00 0. 00

NO.4+9.6  |NO. 9. 60 9. 60 0. 00 0. 00

ot 89. 60 21.28




|
ety T At
{7 T

URLAIE PEK &S TR X v
(3fE300A) |L= 10. 00 =

a7 Y — hE|N= 10.00 = 0.50 — 1.00 =
T VL—F T HEIN= 10.0 = 10.00 =
EIRT
B BEAE & TR L 0
Orr it 7amasoota i | L= 2.50 4+ 6.40 4+ 1.90 + 12.70

+ 10.40 + 16.20 + 1. 20 =

LK T

LKA PEKHE ) T RBAK LV

(300X 300B) |N= 1. 00 =
SEIKHIB PEKFEEY) T REAE L Y

(300X 300C) |N= 1. 00 =
EIKPHEC HEKHE &Y TR XY

(300 300X 1000) |N= 1. 00 =
EIKHD HEAKAEEY) TR LD

(300 X600 1000) |N= 1. 00 =
LEIKHEE PEKHE &Y TR X Y

(300 X600 1200) |N= 2.00 =
V7Y BEARREEY) TRMX XV

(300X 300A) |N= 1. 00 =

it

b

i

it




U B g #& (3 & 3004) (1om%5 1)

UBLIE (37300A)
CERREVSAILEE

520
110 300 110
50 555 55550
I
s |
s UZU4aI;E (338 300A L=2000)
i —kas s y—t
gl g g 280 (=
S — BEILAIL(1:3)
3 P -
o,g_,i K X
S| R A Y st ro-s0)
1OJ ‘100
560
4 PR At H AL
UBLAIE N= 10.000 -+ 2.000 = 5.000 | 1 5. 00

(3f8300A) | ( L=2000, % i E=419kg/{& )

SHRBREY YA 7 il

A" —K | V= 0.300 X 0.067 X 10.000 = 0.201 | m® 0. 20
a7 U—Fh
(18-8-25BB)
#E X | V= 0.360 X 0.030 X 10.000 = 0.108 | m® 0.11
(1:3)
FLHERS A= 0.560 X 10.000 = 5.600 | m? 5. 60

(RC-40, t=10cm)

SR A= 0.560 X 10.000 = 5.600 | m* 5.60




U it il % N
2 v 7 Y — k% (3F 300) (1)

412

1013510

[

412
8l
5 402 5
W=dSke/ 4
Z &t L HLAZ %
2y ) — | N= = 1.000 | #% 1. 00

(37d#, B=300) |( L=500, 2 # B H=45. Okg/# )

ZERY YA 7V RER G




U i 181 15

JVv—F o7& (T-25,300) (Ee=9)
412
412

W=16. bkg/#&
Z &t L HLAZ %
FL—F % N= = 1.000 | #% 1. 00

3 14w, T-25, 300) | ( L=500, &% B E=16. bkg/H )
(G B~ — 7 A)
SHEGREY YA 7




v B ( ¢ 300 ) (10m% v)

T o
| | =
i i
| |
i i
| | N
i i <
_ | |
1## K L (RC-40) i i
1 1 3
]
700
4 PR g H AL 5=
mFEHE K | L= 10.000 = 10.000 | m 10. 00
(15734 7'M O 30040 24 i)
HE L V= ( 0.700 X 0.642 — 0.342 = 2
(RC-40) X 1/4 X 7 ) X 10.000 = 3.576 | m® 3.58

SRR A= 0.700 X 10.000 = 7.000 | m® 7.00




%
(

Vi

300

X

i
300B )

(1054 9)

60

okt

300 x 300B

700
590

520
300

S et =L ) el

o (18-8-25BB)
e ﬁ\\;
8 620 EL#E#4 (RC-40)
720
4 PR At A =SP VAR ¢ 5
R FPUBHFE S 55| N= 1.000 X 10. 000 10.000 | At 10. 00
(300X 300B) |( & EE=201keg/F )
JL—F7ZE N= 1.000 X 10.000 10. 000 | # 10. 00
(T-25, 300 X 300)
A 2%— K | V= 0.300 0.300 X 0.050 X 10.000 0.045 | m® 0.05
a7 y—hr
(18-8-25BB)
HEigar 27U — K| V= 0.620 0.620 X 0.100 X 10.000 0.384 | m® 0. 38
(18-8-25BB)
[A] R A= 0.620 0.100 X 4.000 X 10.000 2.480 | m® 2.48
FLAERS A= 0.720 0.720 X 10.000 5.184 | m? 5.18
(RC-40, t=10cm)
FLmmEE e A= 0.720 0.720 X 10.000 5.184 | m? 5.18




-3 7K Pk B
(300 X 300C ) (10%5Y)
£k
300 x 300C
520
110 V 300 - 110
2 I ]
I |
AvnN—kavyy—t
8 ,/i/ (18-8-25BB)
51 ERas =t
i
8 620 EL B+ (RC-40)
720
4 PR At A =SP VAR ¢ 5=
W FAPUBEAE S 0| N=  1.000 X 10.000 = 10.000 | % 10. 00
(300Xx300C) |( & EE=225keg/F )
JL—F7ZE N= 1.000 X 10.000 = 10.000 | # 10. 00
(T-25, 300 X 300)
A — K | V= 0.300 X 0.300 X 0.050 X 10.000 = 0.045 | m® 0.05
a7 Y—h
(18-8-25BB)
Hpto 77U —R V= 0.620 X 0.620 X 0.100 X 10.000 = 0.384 | m® 0. 38
(18-8-25BB)
A 7R e A= 0.620 X 0.100 X 4.000 X 10.000 = 2.480 | m?® 2. 48
FLAERS A= 0.720 X 0.720 X 10.000 = 5.184 | m? 5.18
(RC-40, t=10cm)
FLmmEE e A= 0.720 X 0.720 X 10.000 = 5.184 | m? 5.18




- K i C

( 300 X 300 X 1000 ) (10364 9)
_ wkm
o 100 fsooﬁ 100
1

1060
950

AN—kavy)y—+
(18-8-25BB)

50

E#a o )—+
(18-8-25BB)

i, S
§L\\esmaqa«>m»

100

600

100

700

2 i L B % &

A3 AHASHEFR S &) N= 1. 000 X 10.000 = 10. 000 | & 10. 00
(300X300%x1000) | ( &7 EH #E=305kg/ %L )

JL—F 7% N= 1.000 X 10.000 = 10.000 | # 10. 00
(T-25, 300 X 300)

A — K | V= 0.300 X 0.300 X 0.050 X 10.000 = 0.045 | m® 0.05
a7 Y—h
(18-8-25BB)
Hpta 77U —R V= 0.600 X 0.600 X 0.100 X 10.000 = 0.360 | m® 0. 36
(18-8-25BB)
A 7R e A= 0.600 X 0.100 X 4.000 X 10.000 = 2.400 | m?® 2. 40
FLAERS A= 0.700 X 0.700 X 10.000 = 4.900 | m® 4,90

(RC-40, t=10cm)

FLmmEE e A= 0.700 X 0.700 X 10.000 = 4,900 | m® 4. 90




& Vi

( 300 X 600 X 1000 )

i

D

(1054 9)

£kt
7300 600 x 1000
500 830
100 . 300 ) 100 115 600 115
A NR—kavyy—+
/ (18-8-25BB)
S s o E#Ea o) — b
'____ e g O S
[ 3 B 3 (T6-8-2588)
8 600 ] | 930 | FLREH (RC-40)
700 ' 1030 '

4 PR At A AL 5
R FASHEFE S ) N= 1.000 X 10. 000 = 10.000 | % 10. 00
(300X 600X 1000) | ( ZEE&E=381kg/3 )

JL—F7ZE N= 1.000 X 10.000 = 10.000 | ¥ 10. 00
(T-25, 300 X 600)

A — K | V= 0.300 X 0.600 X 0.050 X 10.000 = 0.090 | m® 0. 09

a7 y—hr

(18-8-25BB)

Hpto 77U —R V= 0.600 X 0.930 X 0.100 X 10.000 = 0.558 | m® 0. 56
(18-8-25BB)
A 7R e A= (0.600 + 0.930 ) X 2.000 X 0.100
X 10. 000 = 3.060 | m? 3.06
FARERS A= 0.600 X 0.930 X 10.000 = 5.580 | m? 5.58
(RC-40, t=10cm)
JLmEEE I A= 0.600 X 0.930 X 10.000 = 5.580 | m? 5. 58




/
-3 7K P & E o
( 300 X 600 X 1200 ) 0%
£kp
300 x 600x 1200
500 830
100 ) 300 ) 100 115. 600 ‘115
AvnR—kavsy—¢
H . / (18-8-25BB)
SN RN ST
B | B H
g 00 st | 530 ||\t £ (Re-40)
700 ' 1030 '

4 PR At 1 AL 5=
R FASHEFE S ) N= 1.000 X 10. 000 = 10.000 | ¥ 10. 00
(300X 600X 1200) | ( ZEEHE=440kg/3 )

Tl —F 7% N= 1.000 X 10.000 = 10.000 | ¥ 10. 00
(T-25, 300 X 600)

A — K | V= 0.300 X 0.600 X 0.050 X 10.000 = 0.090 | m® 0. 09
a7 y—hr
(18-8-25BB)

Hpto 77U —R V= 0.600 X 0.930 X 0.100 X 10.000 = 0.558 m? 0. 56

(18-8-25BB)

A 7R e A= (0.600 + 0.930 ) X 2.000 X 0.100

X 10. 000 = 3.060 m? 3.06

FARERS A= 0.600 X 0.930 X 10.000 = 5.580 m? 5.58
(RC-40, t=10cm)

F e A= 0.600 X 0.930 X 10.000 = 5.580 m? 5. 58




£ 7 i F "
( 300 > 300A ) (1034 9)
£k
300 x 300A
. B g
4:,81;5— kavsy—+t
P TEDPIEE
T,

620

720

e

KEAMOXGDERT., BREOHMBMAEICEHLETHEISS &,

4 PR At A =SP VAR ¢ 5
R FPUBHFE S 55| N= 1.000 X 10. 000 10. 000 | 3 10. 00
(300X 300A) |( BEZEE=178keg/¥ )
JL—F7ZE N= 1.000 X 10.000 10. 000 | # 10. 00
(T-25, 300 X 300)

A — K | V= 0.300 X 0.300 X 0.050 X 10.000 0.045 | m® 0.05
a7 J—Fh

(18-8-25BB)
Hpto 77U —R V= 0.620 X 0.620 X 0.100 X 10.000 0.384 | m® 0. 38
(18-8-25BB)

[ AR A= 0.620 X 0.100 X 4.000 X 10.000 2.480 | m?® 2. 48

FLAERS A= 0.720 X 0.720 X 10.000 5.184 | m? 5.18
(RC-40, t=10cm)

FLmmEE e A= 0.720 X 0.720 X 10.000 5.184 | m? 5.18




i TR RE
eI} AR E LY
(t=4cm) A= 308. 18 = 308.18 | m° 308. 2
N mAERtEE LY
(ff B b 44 t=3cm) |A= 308. 18 = 308.18 | m?

308. 2




i 1 ] & 7 H +
) I %
WO 4 A | B TTR T e w [ w om | R | F o @ ® | W | B | @ W
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
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NO. 0 NO.O  + 0. 00 0. 00 3.30
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